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FINANCIAL ACCOUNTING - III — HONOURS

Fifth Paper
(A-31-A)
[Accounting and Finance Group]
Full Marks : 100

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words

as far as practicable.

Group - A
Answer any one question 20x1
1. Prepare a Common-size Balance Sheet from the following information of NPC Ltd.
2018 2019
Particulars Amount (%) Amount (%)
1. Egquities and Liabilities :
Share Capital 2,50,000 3,00,000
Reserves and Surplus 4,00,000 4,80,000
Non-current Liabilities 8,00,000 10,00,000
Current Liabilities 2,00,000 2,70,000
16,50,000 20,50,000
II. Assets :
Property, Plant and Equipment 8,00,000 10,00,000
Non-current Investments 2,00,000 2,00,000
Inventories 3,00,000 4,00,000
Trade Receivables 2,00,000 3,50,000
Cash and Cash Equivalents 1,50,000 1,00,000
16,50,000 20,50,000
20
Or,
Briefly discuss five techniques of Financial Statement Analysis. 20
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2. Compute funds from operation from the following information : 20
Amount (3)
Profit as per Profit & Loss Statement 2,50,000
Depreciation 1,05,000
Loss on Sale of Plant 20,000
Goodwill written off 50,000
Interest on Debenture Paid 60,000
Dividend Received 6,000
Group -B
Answer any two questions 25%2

3. On 01.04.2016 IFL Ltd. held 1000, 10% Debentures of B Ltd. The cost price was ¥ 97 each and the
nominal value was ¥ 100 each. Interest on the debentures become due on 30th June and 31st December
every year.

On 01.05.2016 it purchased 500 Debenture-cum-Interest at ¥ 96.50 each. On 01.08.2016, it sold 1400
Debenture-cum-Interest at ¥ 99 each. On 01.02.2017 it again purchased 800 Debentures ex-Interest at
% 97.50 each. On 01.03.2017 it sold 500 Debenture ex-Interest at ¥ 99 each.

Prepare Investment Account for the year ended 31.03.2017.

(Assume that the prices given above are after adjustment for applicable brokerage and the company
follows weighted Average method for stock valuation) 25

Or,

Amin and Anis are partners sharing profits and losses in the ratio of 2 : 1. The Balance Sheet of the
firm as on 31.03.2019, is given below :

Liabilities Amount (3) Assets Amount (3)
Capital Accounts :

Amin 6,60,500 | Property, Plant and Equipment 7,55,000

Anis 5,41,500 | Investment 2,34,000

Bank Loan 80,150 | Inventory 2,00,500

Trade Payables 1,58,100 | Trade Receivables 1,38,225

Cash and Cash Equivalent 1,12,525

14,40,250 14,40,250

The partners agree to convert the partnership firm into a limited company on the date of the Balance
Sheet on the following terms and conditions :

(1) The authorised capital of the company will be ¥ 50,00,000 consisting of 5,00,000 equity shares
of T 10 each.
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(i) All assets and liabilities to be taken over by the company at the following figures :

2.
Property, Plant and Equipment 8,00,000
Investments 2,20,000
Inventory 1,90,000
Trade Receivables 1,00,000
Cash and Cash Equivalents 1,12,525
Bank Loan 80,000
Trade Payables 1,50,000

(i) The purchase consideration is to be discharged by the issue 100000 equity shares of ¥ 10 each at a
premium of ¥ 5 each.

Calculate the Purchase Consideration and prepare the opening Balance Sheet in the books of the new
company. 10+15

. The Capital structure of Mohan Ltd. is given below :

z.
Equity Shares of ¥ 10 each 5,00,000
10% Preference Shares of ¥ 100 each 1,00,000
Reserves and Surplus 4,00,000
10% Debentures 13,50,000

The average profit of the company before payment of interest and tax is ¥ 9,10,000. The income tax
rate is 25%. Calculate the value of Equity Share of the company assuming Price-earning Ratio is 8.
25

Or,

From the following particulars calculate the value of Goodwill of a company under
(a) Annuity Method and (b) Capitalisation Method :
(i) Capital Employed ¥ 5,00,000
(i) Normal Return 8%
(i) Net Profits of last 3 years (after depreciation and tax) - ¥ 50,000; ¥ 55,000 and ¥ 90,000
(iv) Present value of ¥ 1 for 3 years at 8% is ¥ 2.577. 25

. (a) Distinguish between Accounting Theory and Accounting Practice.

(b) Write a short note on Fair Value Accounting. 12+13
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Group - C

Answer any one question 30x1

6. The Balance Sheets of SS Ltd. and SC Ltd. as on 31.03.2019 are given below :

Particulars SS Ltd. SC Ltd.
Amount ( I) Amount ( I)
1. Equity and Liability :
1. Shareholders Funds :
Equity Shares of 10 each 10,00,000 15,00,000
Reserves and Surplus 3,00,000 4,00,000
2. Non-current Liabilities :
8% Debentures 4,00,000 5,00,000
3. Current Liabilities :
Bank Overdraft — 3,00,000
Trade Payable 1,50,000 2,50,000
Total 18,50,000 29,50,000
II. Assets :
1. Non-current Assets :
Property, Plant and Equipment 2,00,000 9,00,000
Intangible Assets 12,00,000 8,00,000
2. Current Assets :
Inventory 1,50,000 10,00,000
Trade Receivables 30,000 2,00,000
Cash and Cash Equivalents 2,70,000 50,000
18,50,000 29,50,000

The companies decide to amalgamate on 01.04.2019 and form Icon Ltd. on the following terms :

(i) All Assets and Current Liabilities of the old companies are taken over by the Icon Ltd. The net
worths of SS Ltd. and SC Ltd. have been determined at ¥ 20 lakhs and ¥ 15 lakhs respectively.

(i) The purchase considerations have been discharged by issuing sufficient numbers of Equity Shares
of ¥ 10 each at a premium of T 40 each.

Show the Journal Entries in the books of Icon Ltd. and the opening Balance Sheet of Icon Ltd. 30
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Or,

The Balance Sheet of Roll Ltd. as on 31.03.2019 is as under :

I. Equity and Liability
1. Shareholders Funds

(a) Share Capital — 30000 Equity Shares of ¥ 100 each.

(b) Reserves and Surplus :
Statement of Profit & Loss
2. Non-current liabilities :
10% Debentures
3. Current Liabilities :
Interest Due on Debentures
Term Loan

Trade Payables

II. Assets
1. Non-current Assets :
(a) Property, Plant and Equipment
(1) Tangible Assets
(i1) Intangible Assets (Goodwill)
2. Current Assets :
(a) Inventories
(b) Trade Receivables
(c) Cash and Cash Equivalents

Amount (%)

30,00,000

(12,00,000)

10,00,000

1,00,000

5,00,000
3,00,000

37,00,000

25,00,000
4,00,000

3,00,000
4,00,000
1,00,000

37,00,000

The following scheme of reconstruction has been passed and approved by the Court :

(i) The Equity Shares are to be subdivided into shares of ¥ 10 each and each shareholder shall

surrender 80% of his/her holdings.

(i) The company issues 100000 Equity Shares of ¥ 10 each at a premium of ¥ 5 each.

(iii)) 50% of 10% Debentures are redeemed.

Please Turn Over
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(iv) The claims of Trade Payables are to be reduced by 40%.
(v) Outstanding Interest on Debenture is paid off.
(vi) The remaining surrendered shares are cancelled.

(vii) Intangible Assets and Statement of Profit & Loss are to be written off completely and the balance
of capital reduction A/c are utilised to write off Tangible Assets as maximum as possible.

(vii)) Expenses of reconstruction is ¥ 50,000.
You are required to prepare journal entries and a Balance Sheet after effecting the scheme in the books

of Roll Ltd. (Narration not required). 30

7. Grand Ltd. acquired 80% of Equity Shares of Fairy Ltd. on 01.04.2018 for ¥ 5,00,000. The statement of
Assets and Liabilities of Grand Ltd. and Fairy Ltd. as on 31.03.2019 were as follows :

Particulars Grand Ltd. Fairy Ltd.
Amount (T ) Amount (T )

I. Equity and Liabilities :
1. Equity Shareholder Fund :

(a) Share Capital - Equity Shares of ¥ 10 each 8,00,000 4,00,000
(b) Reserves and Surplus :
General Reserve 4,00,000 2,00,000
Balance of Profit & Loss (Cr.) 2,00,000 1,00,000
2. Non-current Liabilities :
8% Debentures 3,00,000 -
3. Current Liabilities :
Trade Payables 1,00,000 50,000
Total 18,00,000 7,50,000

II. Assets :

1. Non-current Assets :

Property, Plant and Equipment 9,00,000 4,00,000

Non-current Investment (Shares in Fairy Ltd.) 5,00,000 -
2. Current Assets :

Inventory 2,00,000 1,00,000

Trade Receivables 50,000 1,75,000

Cash and Cash Equivalents 1,50,000 75,000

18,00,000 7,50,000
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Additional Information :

(i) Balance of Profit & Loss and General Reserves of Fairy Ltd. stood at ¥ 1,20,000 and % 60,000 as
on 01.04.2018 respectively.

(i) Trade payables of Fairy Ltd. include ¥ 15,000 due to Grand Ltd.

(i) The stock of Fairy Ltd. includes goods worth ¥ 20,000 purchased from Grand Ltd. The cost of the
goods is ¥ 15,000.

You are required to prepare a consolidated Balance Sheet of Grand Ltd. and its subsidiary as
at 31.03.2019. 30

8. The statement of liabilities and assets of Kapoor Ltd. as on 31.03.2018 and 31.03.2019 is given below :

Particulars 31.03.2018 31.03.2019
Amount ( ¥ ) Amount (3 )

I. Equity and Liabilities :
1. Shareholder’s Fund :

(a) Equity Share of ¥ 10 each 15,00,000 16,00,000
(b) Reserves and Surplus :
Securities Premium 4,00,000 5,00,000
General Reserve 2,20,000 2,50,000
Balance of Profit & Loss (Cr.) 4,00,500 4,80,000
2. Non-current Liabilities :
Term Loan 6,00,000 7,50,000
3. Current Liabilities :
Trade Payables 3,25,000 4,20,000
Provision for Tax 20,000 15,000
Total 34,65,500 40,15,000

II. Assets :

1. Non-current Assets :

Property, Plant and Equipment (Net) 15,00,000 17,00,000
2. Current Assets :

(a) Short-term Investments 14,00,000 16,50,000

(b) Inventories 2,45,000 3,10,000

(c) Trade Receivables 2,65,000 2,95,250

(d) Cash and Cash Equivalents 55,500 59,750

Total 34,65,500 40,15,000

Please Turn Over
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Additional Information :

(1) Dividend paid during the year ¥ 3,15,000.

(i) A part of the plant was sold for ¥ 1,50,000 on 30.06.2018. The written down value of the plant
on 30.06.2018 was ¥ 1,80,000. Depreciation was charged during the year for ¥ 1,20,000 (including

depreciation was the plant sold).

(i) Investments costing ¥ 1,00,000 were sold for T 1,20,000.

(iv) Income Tax paid during the year T 60,000.

You are required to prepare :

(a) The schedule of changes in working capital from 31.03.2018 to 31.03.2019
(b) The Fund Flow Statement of Kapoor Ltd. for the year ended 31.03.2019.

Or,

Following are the liabilities and assets of Strong Ltd. as on 31.03.2018 and 31.03.19 :

Particulars 31.03.2018 31.03.2019
Amount ( Z) Amount ( 3 )
I. Equity and Liabilities :
1. Shareholder’s Fund
(a) Equity Share of ¥ 10 each 5,00,000 5,75,000
(b) Preference Share of ¥ 100 each 1,25,000 1,25,000
Reserves and Surplus :
Securities Premium 1,10,000 2,60,000
General Reserve 2,60,000 3,00,000
Balance of Profit & Loss (Cr.) 4,15,000 6,10,000
2. Non-current Liabilities -
10% Debentures 2,00,000 4,00,000
3. Current Liabilities -
Trade Payables 1,65,000 1,85,000
Outstanding Interest 10,000 20,000
17,85,000 24,75,000
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Particulars 31.03.2018 31.03.2019
Amount (3) Amount (%)
II. Assets :

1. Non-current Assets :

Fixed Assets : Tangible 9,85,000 15,65,000
2. Current Assets :

Inventories 475,000 6,17,500
Trade Receivables 2,12,500 2,62,250
Cash and Cash Equivalents 1,12,500 30,250
17,85,000 24,75,000

Additional Information for the year 2018-19 are also given :
(i) Dividend paid during the year ¥ 60,000
(i) New Debentures were issued on 01.07.2018
(i) Income Tax paid during the year ¥ 1,20,000
(iv) Preference Dividend of ¥ 12,500 paid during the year
(v) The amount of depreciation charged on fixed assets during the year T 1,60,000

You are required to prepare cash flow statement of Strong Ltd. for the year ended 31.03.2019.
30

9. (a) State the limitations of Accounting Ratios.

(b) From the following particulars, prepare a summarised Balance Sheet for the year ended on

31st March, 2019. 10+20
Fixed Assets to Net worth = 08:1
Current Ratio = 3:1
Fixed Assets = %16,00,000
Reserve included in Proprietor’s Fund = 2%
Quick Ratio = 3:2
Cash and Bank balances = ¥30,000

Long-term Loan = ?
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CONSUMER BEHAVIOUR AND SALES MANAGEMENT — HONOURS
Fifth Paper
(M-31-A)
(Marketing Group)
Full Marks : 100

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Module - 1
(Consumer Behaviour)
Group - A
1. Answer any two questions : 5%2
(a) Name two consumer behaviour models.
Or,
What is diffusion of innovation?
(b) What is consumer behaviour?
Or,
What is health-care marketing?
(¢) Define the term Opinion leader.
(d) Define the role of reference group in consumer decision process.

(e) Give two examples of social class.

Group - B

2. Answer any two questions : 8x2
(a) State the features of consumer behaviour.
(b) What is Marketing Information System (MIS)?
(c) Discuss the importance of health-care marketing.
Or,

What are the merits of political marketing?

Please Turn Over
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(2)

3.

4.

5.

6.

(d) What is the importance of environmental marketing?
Or,

Discuss the major techniques of market segmentation.

Group - C
Answer any one question : 12x1
(a) State the application of market research in consumer behaviour.
(b) Discuss the relevance of marketing information system in assessing consumer behaviour.

(c) How does consumer’s need influence consumer decision-making process?

Group -D
Answer any one question : 12x1
(a) Discuss, in detail, the role of motivation in consumer behaviour.

(b) Discuss the determinants of consumer behaviour in their social and cultural setting.

Module - IT

(Sales Management)

Group - A

Answer any two questions : 5%2
(a) State any two causes of turnover of sales personnel.

(b) What do you mean by ‘on the job training’?

(c) What do you mean by job analysis?

(d) Define personal selling.

(e) What is salesmanship?

(f) Give an idea about buyer-seller dyad.

(g) State any two functions of ‘marketing channels’.

(h) Mention any two basic objectives of selecting an appropriate distribution channel.

Group - B
Answer any two questions : 8x2
(a) Distinguish between direct channel and indirect channel.
(b) Why the channels for industrial products are typically shorter than channels for consumer products?

(c) Discuss the features of electronic marketing channels.
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(d) What is meant by compensation of sales force?
(e) Discuss any two key determinants of sales force size.

() Explain, in brief, the basic sales strategy taken by sales management.

Group - C
Answer any one question :
(a) Discuss the AIDA’s theory of selling.
(b) How does personal selling differ from advertising?

(c) What do you mean by ‘performance evaluation’? What are its objectives?

Group-D

Answer any one question :
(a) Describe different tenets of marketing channels.

(b) What are the ever growing complexities of sales organisation?

12x1
12

12
8+4

12x1
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PUBLIC FINANCE AND TAXATION — HONOURS
Fifth Paper
(T-31-A)
Full Marks : 100

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Group - A
Answer any two questions 10x2
. Distinguish between ‘public finance’ and ‘private finance’. 10
. Write a short note on FRBM Act 2003 of India. 10
Or,
Distinguish between ‘revenue deficit’ and ‘fiscal deficit’. 10
. What do you mean by excess burden of taxation? 10
Or,
Briefly explain the problem of allocation of public goods. 10
Group - B
Answer any three questions 20%3

. Distinguish between ‘incidence’ of taxation and ‘shifting’ of taxation. Explain in this context the concepts
of direct and indirect taxes. 12+8

. Examine the impact of public expenditure on

(a) Distribution

(b) Macroeconomic Stability. 10+10
Or,
Make a comparison between ‘public debt’ and ‘fiscal deficit’ as ways to finance public expenditure.
20
. What do you mean by public debt? Does it impose a burden on the society? 8+12
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7.

10.

11.
12.

Give a brief account of the recommendations of either
(a) the twelfth, or

(b) the thirteenth Finance Commission of India. 20

. Explain the major heads of uses of Central funds in India, with a brief outline of their changing patterns

over the last two decades. 12+8
Or,

Explain the relation between ‘planning’ and ‘central budgeting’. 20

. What are the major heads of revenue of the state governments in India? 20
Or,

Write a note on fiscal federalism in India. 20

Write a note on the ‘benefit’ approach to taxation. 20
Or,

Discuss different bases of ‘Ability to Pay’ in taxation. 20

Group - C
Answer any one question 20x1
Explain the changes brought about in the Indian direct tax structure since liberalization of 1991. 20

Do you agree with the view that Five-Year Plans have become irrelevant in India after the liberalization
process? 20




